Pre-Calculus: Trigonometry

Chapter 7 Pre-Test

1. (5 pts each, 10 pts total) Find the component form of the resultant vector.
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2. (5 pts each, 10 pts total) Find the magnitude and direction angle of the resultant vector.
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3. (10 pts each, 20 pts total) Given the following vectors, create head to tail models on paper
and find the resultant magnitude and direction. The arrows are not perfect but use the corner
that they are closest to.

Please round the magnitude and direction to the nearest tenth (when applicable). All
direction values should be positive. Please input your answer in the form (r, ).
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4. (7.5 pts each, 15 pts total) Find the dot product of the given vectors.
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- 5. (15 pts total) Find the measure of the angl sen the two vectors.
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6. (7.5 pts each,_15 pts total vert each pair of polar coordinates to rectangular
coordinates| Please do not use decimals.
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7. (7.5 pts each, 15 pts total) Convert each pair of rectangular coordinates to polar

coordinates where r > 0 and 0 £ 0 < 360°.
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